R

BATRETH CTOREERFANMCDISHEAFTHEEIOIEL (FH2FE)

READERZTT S Kig~DERZXT S KBADKEEYIZH TS
%@ SHEATITHEHE SHEAFTHEE EMEATITHEHE
LGk MXETH & (10°m°/4E) MXETH & (10°L/4E) mXETH & (10°L/4F)
1 |&REm 484,028 = H & 37367 EEH BT 6,998,818
2 B5Fm 469,251|FRE™H 23,803| % &M 229,763
3 |#rERERFERHET 336,170| EE7iE ™ 3,100)iH#E 153,323
4 |EERR AT 227,989 = 58 BB SR BT 2,215| A ERH 130,120
5 |EaT 153,606]255F ™M 1,256 | FREEAR SR B AT 119,833
6 |#FHm 144,794) % & 1,053 EISE AR E ZE #+F 59,761
7 |HtET 101,149) 448 558| 5 AR R KR AT 19,925
8 |HhEEEREE FHNET 96,900| R EEAR L & 4T 408|5%%H 14,740
9 |EHEM 83,245 | E EA AR A SR AT 182| SR EPRE 1 6,692
10 |BAiEH 80,817|EZEEBE ZEH 168| EIZEEB = #h 4t 6,677
1 |agzs 65,576 AR i A 165\ BiEH 4752
12 |=E5E2 BEH 32,400]| & R B E 41 159\ BEEiE ™ 1,798
13 | SRAERSAH 30,600) HiETH 18] EEER R Ik AT 1,617
14 |SFREA K SH 28,153| & R ERFE KRB 73| s EE AR FE [R ET 1,586
15 |ShEEERIL A HT 24,681| = 5EER B #hAT 23| EITE BB AN ER AT 566
16 |/\ELE} 5 AR E ET 21,001 | EEEER K EBRAT 4| EZEER K B RAT 111
17 |SFRARIL KERH 20,120) % 1 E¥ il 0
18 | &R ARm EL R BT 19,955) & 7 BRI B2 B A O| EIZEER R4 0
19 | SFAA R AR 18,930| & 7 &8 5 AR [ BT 0| = B &R 35 FF HR T 0
20 |EREH 12,081 & /7 8B e &L [R BT o|ERARILKEF 0
21 |hEEEREE AT 9,648 = SE AR ER o|=E &2 BREH 0
22 |E®EH 8,636|/\E ILER T = HT of/\ & LI &R 5 AR = BT 0
23 |hEEARAL S AT 7,185| B B % BRI HT O| EIZE &R & BF EE A 0
24 |EzEEREISEFT 6,800 =SB AR {74 o|SREEREH 0
25 |SREBEEF 5700|EREBELEHR O| E =B AR & E BT 0
26 |/\ELERYT=HET 5,600| 2 R 0| & /7 &R A /&L BT 0
27 |SREBEREN 3,700| B RABIL KB AT O] = EEAR L A BT 0
28 |ERERSARIRET 2,834| EIZEER B B EE A4 0| & 7 &8 5 AR [ BT 0
29 |EzEERS HET 1,755 ™ o] = EEER AL g A 0
30 |EEEERAERET 1,500 EIZE A & ECET o)/\Z LA E BT 0
31 |=EEEERRAT 1,100| HEE AR = FHRET ofi# AR 0
32 |EEEEBFEIIAT 340])/\ E L &R 5 AR E BT O| EIZE AR R ITHF 0
33 |EEEER R fhAT 336| SR ARA K SHT o|& R 0
34 |EEEERE FPEERT 188|thEEARIL A HT 0| & R EBA K SHT 0
35 |EEEERRE KA O] hEEERL Fhim e o| & R EDEZEH 0
1/1

EZEE . TR —HES

EIRIRERY AT LB AR




